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General Instructions :

1. There are 36 questions in all. All questions are compulsory.

2.  Marks are indicated against each question.

3. Write the question numbers as given in the question paper while answering
a question in your answer book.

4. Questions 1-20 contains very short answer type questions of 1 mark each.

5.  Questions from 21-28 are 3 marks questions, answer of these questions should
not exceed 80 words each.

6. Question 29 to 34 are 5 marks questions. Answer of these questions should not
exceed 120 words.

7. Question 35 and 36 are map questions of 4 marks from Geography and 2 marks
from History. After completion, attach the maps inside your answer book.
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1. Which one of the following steps is against the sustainable development ? 1
(a) Minimise the depletion of natural resources
(b) Use all non-renewable resources judiciously
(c) Effective resource planning

(d) Unlimited use of resources

frafafed & & & @ U™ ¥ad foem & fowg 72
(a) TUhfash GHIEA & HH Hl L KT

(b) |H R TAwwiE o H1 foasgel ST w7
(c) vwrEl wHEA fsH &

(d) dHeEl 1 it WM

2. Which one of the following options is a characteristic of the leaves of trees

found in the Mediterranean forests ? 1
(a) Broad leaves (b) Small leaves
(¢c) Waxy and small leaves (d) Needle-shaped leaves
frefafad § @ & @1 fawey, qEeErRa o9 § 9 99 9 gai % gl 1 fawa 82
(a) =S T (b) B T
(c) W R B T (d) ¥ & FHX & T

3. In which type of agriculture do farmers obtain high output per unit of land ? 1
(a) Extensive agriculture (b) Plantation agriculture
(c) Intensive agriculture (d) Shifting agriculture
= § ¥ f6w ywr #1 >fu @ fram aft 1 ufd sovE ¥ rferchan I9eR e w72
(a) fogd <hfw (b) 9 HfH
(c) Ted i (d) T Ry

OR (3tear)
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Which type of agriculture is adopted by farmer and his family to grow crops
for self-sustenance ?

(a) Subsistence agriculture (b) Commercial agriculture

(c) Plantation agriculture (d) Shifting agriculture

=1 4 @ 5% TR &1 S0 & fham iR SEe1 IRER 9+ asifasht o fau soem 272
(a) faig pfu (b) =EEIE HiY

(c) e iy (d) werrdfa

4. In the question given below there are two statements marked as Assertion (A)
and Reason (R). Read the statements and choose the correct option : 1

Assertion (A) : Seasonal unemployment exists in many parts of rural India.

Reason (R) : During the periods of sowing and harvesting, there could be
surplus labour.

Options :

(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is not the correct explanation of A.
(c) A is correct but R is wrong.

(d) A is wrong but R is correct.

Fo far oy H ke € fH ¥ Tt # @ (A) 91 TR H FRO (R)
w9 ° eifrd fran e B wudl HoeAM @ ufgy iR ScR % ®Y § I faseu &
gHT

FEr (A) : T R % S fewdl ¥ AT SUWMH ONE 2

HROT (R) : §oE 3R HeE &1 ey o NF, o6l AT 9H 8 Gehdl @
faerea .

(a) %o AR RSA & € do1 R &1 %o A &1 W =aren =

(b) w¥ A 3R R < ¥ € W R &1 %o A &1 o @l @l

(¢c) o AT T W o4 R Tad 2

(d) ®o A To@ © W R WE R

5. Name the author of the book ‘My Experiments with Truth’. 1
T R TR faw zo’ o dew w1 AW fafem
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6. Study the picture given below and answer the questions that follow : Y2+%=1

= feu U fam w1 stemEa wifst SR e fo@ el o s fafeun—
R

(a) Write the popular name of this building.
(b) In which city is it located ?

(a) 39 TERA &1 oeeiya 99 fafau)
(b) =& HF U T § fem ©?

Alternative question for visually challenged candidates in lieu of Q. No.6
(a) Name the biggest museum related to Mahatma Gandhi.
UH 6 % WM W had gheanya faanfdat o fau Sewfeaes wom
(a) Werw Tt W I w9 92 WUReE &1 AW faf@u)

7. Correct and rewrite the following statement : 1

The slogan ‘You give me blood, I'll give you life’ was given by Netaji Subhash
Chander Bose.

fAfafad &eM &1 3 Hweh gA: fafeae—
‘TR A A, gR SR M w AW YA gem = @ 3 R em
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8. The Revolt of 1857 is also called “The First War of Independence” because— 1
(a) It was started by Sepoys

(b) It was the first time different sections of Indian society united against

foreign rule

(c) It was the first time Indians were fighting against the British rule

(d) Bahadur Shah was proclaimed Shahenshah-e-Hindustan

1857 % fogie # ‘‘Tdad ®1 Teen WU St ®El W § e

(a) SHHI yEeTa fawfeai & 1 off)

(b) ¥E TSe IR o W& YA AN o fafv= o fossht wew & faams Twee gul
(c) ¥€ Tecl 9R o 9@ 9RaE fafewr s & faaw @€ ® 9l

(d) eI IME I IEIME-U-fegwam =@ifom fham e em

9. Arrange the following historical events in chronological order and choose the

correct answer from the options given below : 1

(a) Jallianwala Bagh Massacre (b) Chauri Chaura Incident

(c) Home Rule League (d) Non-Cooperation Movement
Options :

i) a,d,c, b (i1) c,a,d, b

(i) b, d, a, c (iv) d, a, b, ¢

ffafeq Ufaerfas wemstl &l $la HAMUR aiked &k - fu Tu faskedl § ¥
&l IR g

(a) Sfearamen o REER (b) W =R ETEE
(c) @MW & M (d) STEEIn STRe
fasmea

i) a,d,c b (i) c,a,d, b

(iii) b, d, a, c (iv) d, a, b, c
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10.

11.

12.

13.

Fill in the blank : 1

In the words of our late president ‘The day is not far when

enlightened and ignited minds will transform India into a competitive beautiful
nation.’

e wm afE-

TR Teita regafa & vl | ‘o7 T T W9 W@ SR vsataa
T 9Rd I TH Flawwlf g e o asa <9

Correct and rewrite the following statement : 1

Chakravati Rajgopalachari was the first deputy Prime Minister of India.
fAfafeq ®o9 &l 3& &k gA: fafa—
Toherd! TSR] 9Nd oh 98l 39 ol |

Name the institution that is responsible for holding free and fair elections in
India. !

qRd H wad SR e A e i fERR Y e geE e Am fafe)

Read the following extract and answer the questions given below : 1

The Congress under Jawaharlal Nehru controlled the reins of the government
after independence till 1964. But the year of 1967 proved to be a turning point
when some state parties (regional parties) came into prominence. This was a
period of actual democratisation of Indian politics.

Explain any one reason for treating the year 1967 as turning point in the Indian
politics.

frefafead Sexor i ufgu &t H= fa@ 991 1 Sar <ife—

SR % °oh g H HIUE 7 1964 T TSRl oh 9% WK hi ANTER  HTelt
offl AfFd 1967 &1 99 TH Hewqul Hig Wifed g3 9 F© WA Il (LT @) &l
JHEd I gl

a9 1967 ! ARAE TSHITG | Tk 741 W SH el oY @b @ Sl 82 i Tk SR
T T
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14. Match the features of our constitution given in Column ‘A’ with their meaning

given in Column ‘B’. Choose the correct answer from the options given

below : 1
Column A Column B

(a) Socialist State (i) Right to freedom of religion

(b) Parliamentary government (i) Procedure of amendment

(c) Secular State (iii) Establish economic justice

(d) Rigid and Flexible (iv) President nominal head

Options :

(I a-i, b-ii, c-iv, d-iii (IT) a-iii, b-iv, c-ii, d-i

(ITI) a-iv, b-iii, c-i, d-ii (IV) a-iii, b-iv, c-i, d-ii

= ™ ‘A’H & T AR Hfaum w1 faviaet o1 wiawm ‘B o fRu wu 3eh e
& Ty gl fHam ifvw 99 kr o fosked § 9 @& SaR giu-

HieH A il B
(a) YHNER! T (i) wnfifer T 1 SRR
(b) HEEE WHR (i) Hemed st gferan
(c) wHfUY T (iii) omfeier = Tenfaq T
(d) SR 3R e (iv) Tgufd @ichfas wq@
Tarereu
(I) a-i, b-ii, c-iv, d-iii (II) a-iii, b-iv, c-ii, d-i
(II1) a-iv, b-iii, c-i, d-ii (IV) a-iii, b-iv, c-i, d-ii

OR (31am)
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Match the aspects of our Constituent Assembly given in Column ‘A’ correctly
with the information given in Column ‘B’. Choose the correct answer from the
options given below :

Column A Column B

(a) All the members of the (i) Sarojini Naidu
Constituent Assembly

(b) President of the Constituent | (i1) B.R. Ambedkar
Assembly

(c) Chairman of the Drafting (iii) Indirectly elected
Committee

(d) Member of the Constituent | (iv) Dr. Rajendra Prasad

Assembly
Options :
(I) a-1, b-ii, c-iv, d-iii (IT) a-ii, b-iv, c-iii, d-i
(ITII) a-iii, b-iv, c-ii, d-i (IV) a-iii, b-iv, c-1, d-ii

I Ffe™ ‘A’ ° fSu T TR wfau™ 99 o weqell @i wiam ‘B’ § faet T SHerd
& Ty gl fHam i 99 ke u fadked ¥ 9 W& Sark @1 fasew FHu-—

HieH A HiaH B
(a) dHfaum 9w o 9t w_H () wufsH g
(b) wfaud 9w o s (i) w.eIR. et
(¢) YeY Hfafa o s1eae (iii) e¥@® €9 ¥ g MU
(d) == HiguE |9 (iv) . IS5 J9R
fawea -
(I) a-1, b-ii, c-iv, d-iii (IT) a-ii, b-iv, c-iii, d-i
(ITI) a-iii, b-iv, c-ii, d-i (IV) a-iii, b-iv, c-i, d-ii
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15. From the following statements, choose the statement which is correct in

relation to the ‘Right to Freedom of Religion’. 1
(a) The followers of majority religion enjoy special status

(b) Citizens are not allowed to change their religion

(c) State has no religion of its own

(d) Educational institutions are free to impart religious instructions
frefefed weml | 9 e T o afuer’’ W Hefud WEl A e
(a) wgEEA® ¥H oh AEH ol i foRi < W 2l

(b) IR T od uRedd #1 AfER T R

(c) I 1 HE G oH T B

(d) foreor Geomd enffer foram 39 o fow w@@d g

16. Complete the sentence : 1

In Indian Parliament the ‘House of People’ is known as

T wEe A ‘T e diga’ ol ERIS

The speaker of Lok Sabha is elected by

AHHAT ok AW hT gAE FW Tl

17. State any two subjects included in the Union List. Vot+Vo=1
geg gl H wfwfaa fe=l < fawal & AW fafag)
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18. In case the office of the President of India falls vacant, who takes over the

responsibility to officiate as President ? 1
(a) Chief of Army staff of India

(b) Vice President of India

(c) Chief Justice of Supreme Court of India

(d) Prime Minister of India

IfE uRd o Tgufd 1 9 fod e WY, @ Ugufa oh SHEAYR 1 Scialide hid e 82
(a) 9RA &1 oA HATAN

(b) 9Rd 1 3IY-UAd

(c) 9RA o Hared =EEE &1 &I =R

(d) 9Ra &1 YuHE

19. Who amongst the following presides over a Lok Adalat ? 1
(a) The Session judge (b) The District judge
(c) The Metropolitan Magistrate (d) A retired judge
Wk SIRIed w1 Gue fefafed ¥ § fRwes gu fRe s @2

(a) 9 =R (b) TStem =manets
(¢) WMR A& (d) Harfem =t
20. Correct and rewrite the following statement : 1

The lowest court in the Indian judicial hierarchical order is the Court of
Subordinate Civil judge.

o o o o

frfafad ®oF &1 3 &eh qH: farau—

IR &1 = gufieg =geken § wad frach swed odfiey fofae se &1 3 B
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21. Why is it essential to use resources more effeciently and reduce their wastage?
Explain any three reasons. 3x1=3

Al H1 SIfehad YAl B W SYAN qAT 3T EUAN HH BT I Aq SAavIH
27 HIE I HNU TR TR HIfSU|

22. Write any three examples each of ‘Biotic Resources’ and Abiotic Resources’.

Siferer GEeAl SR emifass GEeAl o dH-di9 SeeLr S| 6xV%6=3

23. “Saving an animal will not change the world but it will change the world for
that one animal.” In the light of the above statement write any three measures
required to conserve wildlife. 3x1=3

YU HeR I g9 § IR R SRe ofhd 3 39 Us SMeX o foau g s”a
ST SIS HOF oF Gqd H, gsidl oh WU o foy ofevHes &g i Sud fafEu)

OR (31¥ar)

“Forests play an important role in maintaining biological diversity for the
sustenance of life.” In the light of this statement, explain the importance of
forest cover for the survival of life on earth. 3x1=3

“Siam o frafe o forg Sfass fafaud & sA@ @H o ‘o9’ Heagel faer e 1
STH FUF oF W-H | Yol W Sied o ARk o faw 99 STeRUl oF HEwd il W
i)

24. Name any three sources of information that help in reconstructing the history
of Modern India. 3x1=3

MY 9RA o sfae™ o IA: Fio o 9e@e g=a & &=l o =&al & 9m fafag)
OR (31¥ar)

Name any three books written during the freedom movement of India, which
are also the source of information of the modern India.

IR oF TaAa] GUM o WA foael T fat 99 qmakl oF M fafey S oemyfie WA
# gE H Ga ot ?)
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25.

26.

27.

28.

29.

Highlight any three major achievements of India in the economic field since
independence. 3x1=3

MRl o a8 9Rd g offYfd &3 H U forgl 9 SUafs@i &l ISR wifeg
Describe the ‘Right to Constitutional Remedies’. Name any three writs that are
issued under this right. 1v+1v%=3

‘gauifreh ITER & SAER’ 1 Ui HIfTUl 39 URR & ofdid SR & WA arel
frgl @1 feg (uRen) & W fafay)

State any three differences between the Lok Sabha and the Rajya Sabha.
AHAA SR TF T & A" HE dF R fafau 1+1+1=3

Highlight the role of Supreme Court as the ‘protector of Fundamental Rights’
and the ‘Guardian of our Constitution’. 1v+1%%=3

gated IEerd &1, ‘Oifes SRRl 1 e’ den ‘Higum # Wesw’ o w9 W ofien
1 SR RIS

OR (3tear)

Highlight the significance of Lok Adalat in imparting justice to the common
man in India. 3x1=3

G H 3T STEHT i =g GaaM § ol ISIeld o Hewd il ST hifSU|

Mention any two natural and human factors each that cause soil erosion.
Suggest any three methods for soil conservation. 2+3=5

el o el o forn swRerEl fe=t < Wiehfaer SR HMEE wRel 1 Seoi@ hifsu)
& WU o AU HE 99 IUE e
OR (31¥ar)

How is soil formed ? Write any four points of its importance as resource. 1+4=5

T 1 A fhE YR Bt B2 Uh HOA o €9 W 3Hoh Hewd Wi <0 o WR fag

fafau)
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30.

31.

32.

33.

34.

Explain the importance of agriculture in Indian economy. 5x1=5

IR s1efeqaenn § iy o Hewd i T SHifau)

“The uprising of the First War of Independence had been planned for many

months, yet it failed.” Support the statement with relevant arguments. 5x1=5
‘Yo TAIAT GUM I ASH o THT O 99T M b 9 of fawa W 39 wed
% U8 H IUgFd doh for@u|

OR (31@r)

‘The revolt of 1857 proved to be an eye opener for the Britishers that compelled
them to take corrective measures to re-establish their authority over India.’
Support the statement with relevant arguments. 5x1=5

‘1857 w1 fasie S o fau sif@ @ier aren fag gen foam S qA: 1ot ga Tenfyq
T o AT GUR o TS 3T IoH W ared TR’ 9 oA o 99 § IUYH qoh [a1Ey)|

Describe any two mass movements that contributed to intensify the struggle
for freedom in India. 2V04215=5

qRd o WAl SO ®I T YSH wE o fe=l & SH-SASedl 1 guiA shifed)

“India has a federal system with a difference.” Do you agree with this statement?

Justify your answer with suitable arguments. 5x1=5

“9Rd H Tk ITOF YRR kI GEE YUMSR 2177 R Y TH hYH W WEHd 27 AU Iai
F1 g ITYE dhl R HiTeg|

Describe any five Legislative powers of the President of India. 5x1=5
IR o UUfd i Rl o= faurt wifesl 1 aofq sifsm
OR (31@r)

Describe any five important powers of the Prime Minister of India. 5x1=5

IRA o JUFHA H1 fR=el Ui Hewyul wifkEl w1 g wife)
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35. (a)

(b)

(a)

(b)

Two features A and B are marked on the given outline political map of
the world. Identify these features with the help of information given
below and write their correct names on the lines drawn on the map. 4x1=4

(A) A region of high rainfall (B) A type of forests

On the same political outline map of the world locate and label the
following:

(C) A region of low rainfall in Africa

(D) Temperate Softwood Forest in Northern Canada

THR o ToHifaes W@ wEtes W @0 (A), (B) <@t T € e € T S
o IMYUN W I TSHNU qeN 3ok el 9 HHfas § di=nt T Wi W fafeu)
(A) oAfyss =ui aren & (B) =l &1 T& T&KR

TR o SH qoHifge W qEfas | fEfafea &t sifed wifse den S|t M
fafEm|

(C) oThIRT 1 TH HH Il aren &

(D) 3Id sl ¥ iAo sfaa =4

Alternative question for visually challenged students in lieu of Q. No. 35

35.1
35.2
35.3

35.4

Name one region of low rainfall in Australia.
Name any one Asian country where Tropical Deciduous forests are found.

Name a desert region in the southern part of Africa that receives low
rainfall.

Name any two trees commonly found in Tropical Evergreen forests.

WH 35 o WM W hae ghearud faenfdal & fau defeas wo

35.1

35.2

35.3

35.4

sifan ° w9 99l o &F w1 9™ fafEu)

frdt & WREE 2w w1 W fafew SEl Swekfeadg gofud a9 U S| 2
ATTRT ol qm H Uk WA &5 w1 AW fafEgu sEl W s 9w edr Bl
qHMd: IWhfeadia STl § Ue oH o fesl & st o am fafau)

VIlI-Social Science (14)



36.

On the given outline political map of India locate and label the following

places : 2x1=2
(a) Kanpur — The place where Nana Saheb led the revolt of 1857.

(b) Amritsar — The place associated with Jallianwala Bagh Massacre.

feu U 9Ra o TeHifae qEfes ) fEfafea = sifea st aen ST am ot fafan—

(a) HAR — 59 WA ¥ 99 9Rd 7 foxkie &1 A9 &

(b) TR — feEden a9 REER o @Y Fafid |

Alternative question for visually challenged students in lieu of Q. No. 36

36.1 Name the place from where Rani Lakshmi Bai led the revolt.

36.2 Name the place where the Indian National Congress was formed.

UH 36 o WM W hae gheard faenfdal & fau defeas wo
36.1 SH T H1 AW AT WEl ¥ T A 3 fagie #1 g fEen em
362 SH W %1 W fafgu S qRdE UE e s wre gg e
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Y9q W& 35 WHEtaA

Ea‘l‘ 40000000000 0000000000

Q. 35 Map

eRlpisl — ik TVOLLI'TOd - ATHOM

(17)
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DIA - POLITICAL AND ADJACENT COUNTRIES
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